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uoo | ooo 45° gooad godad oooad oooo loooo looooo loooo ooad
HBL oo ooo HBT HBS HBCA HUS HBU 20KF ooood
ooo HBRL HBL45 HSL HBRT HBRS HPNI
/> 470 530 550 580 410 295 1,330
s 630 720 720 850 530 413 1,500 600
3fux i, 870 580 420
1 1,250 1,330 1,380 1,450 1,030 826 2,580 640
1x i/, 1,690 1,090
1x 3/4 1,690 1,090
1/, 1,840 1,990 2,090 2,230 1,480 1,170 4,410 840
1Y/ /s 2,420 840
1/.x 1 2,690 1,600 840
1. 2,270 2,500 2,970 3,730 1,780 1,430 5,960 850
1Y% 3/s 3,160
11/2x 1Y/, 3,430 1,770 1,070
2 3,370 4,050 4,460 5,430 2,620 2,070 8,260 6,120 1,050
2x 3/, 5,170
2x 1 3,430
2x 1Y, 3,430
2x 1/> 5,960 2,910
24/ 5,680 7,050 8,700 4,360 4,410 8,210 1,990
2t/2% /4 4,110
2/x 1 4,110
2t/:x 1/ 4,110
2t/2x 1t/> 4,110
2t/2x 2 4,110
3 10,850 12,100 13,370 16,090 5,970 4,140 16,610 9,560 2,630
3x 1 19,410 5,330
3x 1/ 5,330
3x 2/> 14,930 18,100 6,420 5,330
4 23,230 24,590 37,580 11,960 11,200 4,010
A% 3/, 10,080
4x 1 44,130 10,080
4x 1Y/, 10,080
4% 2 44,950 10,080
4x 24/, 23,660 44,130 10,100 10,080
4x 3 48,210 10,830 10,080
5 37,580 53,140 56,720 32,010 25,380 10,890
5x 2/, 52,880
5x 4 34,340
000 = >
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[1 [12006.9 0000 200609000
oag ooo oooo ooo 45°0 0 0 od gooooo|ooooooo|bbooooo
ooad PCHBL | PCHBS | PCHBT | PCHBT 0oood PCHBRL | PCHBRS | PCHBRT
2/> 12,800 10,360 20,680 4x 1 70,000
4 37,150 21,220 62,090 46,780 4x 24/, 40,140 19,820 72,760
5 79,030 62,350 109,310 oooooooon
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